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	ITEM
	RATIONALE for KEY OR MISCONCEPTION

	A
	Students who choose this answer might misunderstand the phrase “set out” to be synonymous with the action described in the next sentence: “Nellie took just one bag.” 

	B
	

	C
	

	D
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	ITEM
	RATIONALE for KEY OR MISCONCEPTION

	A
	This answer choice is the key.  Context clues in the paragraph that develop the idea that he skates slowly include the description that he “inched along,” which is synonymous with moving slowly, and “this wasn’t like flying at all,” which suggests the opposite of swiftness.

	B
	

	C
	

	D
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	ITEM
	RATIONALE for KEY OR MISCONCEPTION

	A
	Students who choose this answer might mistakenly add the whole number 5 to the numerator 2 to incorrectly arrive at  .

	B
	

	C
	

	D
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	ITEM
	RATIONALE for KEY OR MISCONCEPTION

	A
	

	B
	

	C
	This answer choice is the key.  A student arrives at 72 by subtracting 34 from 106. Each angle measure added together results in the total angle measure of 106.

	D
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After Nellie threatened to make the trip for another newspaper, her
editor gave in and allowed her to do it for the World. One year after asking
to do the trip, Nellie set out. Traveling east across the Atlantic, Nellie took
just one bag in order to move quickly. As she traveled, she wrote. She
telegraphed her articles about people and places to the newspaper.
Schoolchildren followed her route across Europe and Asia. Geography
became a national fad as readers tracked her around the world.

telegraphed = a way to send messages to a faraway place





image2.PNG
What does the phrase “set out” mean as it is used in paragraph 6 of the article?

A grabbed her suitcase
B began her journey

C  accepted work
D

started writing
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Craig watched them. They made skating look easy. He tried to skate like
them, but when he let go of the chair he fell. So he grabbed on to it again
and inched along. His skate blades went scritch scritch scritch instead of
the swish swish sound that his sister’s blades made. This wasn’t like flying
at all. It was like being a snail.
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In paragraph 16, what does the phrase “like being a snail” help the reader to understand
about Craig?

A He skates very slowly.

B He moves in a crooked line.

C  He searches for a place to hide.
D

He looks like all the other skaters.
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2
Tatum walks her dog 3 mile every day after school. How many miles does she walk

her dog in 5 days?
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The measure of angle EFG shown below is 106 degrees.
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What is the measure, in degrees, of angle EFH?

A 34
B 56
c 7

D 140




